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California is a community property state. All property and assets aquired during
marriage is considered community property. All property and assets acquired
before marriage and after permanent separation is considered separate
property. All property and assets received via. gift, devise, and/or inheritance is
separate property. Upon divorce or final dissolution, all community property is

distributed equally.

1. W's and H's Respective Rights Regarding:

a. Necklace

SOURCE

H bought the necklace for $25k which came from an inheritence he received in "
2011 for $100k. All property or assets received by inheritence is considered SP.

Since he bought the necklace using $25k of the $100k SP, the necklace is H's

SP.

ACTION

H gave the necklace to W as a holiday present.

Transmutation

A transmutation is the change in character of an asset or biece of property. Prior
to 1985, transmutations could be done orally, in writing, or implied. However,

after 1985, transmutations required: 1) a writing, 2) expressing the change in
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character from SP to CP, and 3) by the party adversly affected. An exception to
the transmutation rule is that gifts could be made that were of a insubstantial
value.

/

Here, H gifted the necklace to W as a holiday gift. This gift was made in 2011,
well after 1985. So, in order for it to from H's SP to W's SP, there needed to be a
writing, an expression that that's what was being done, and made by H, the
affected party. Based on the facts, there is no writing changing the character of
the gift that was expressly made by H. Further, the fact that it was a gift alone
should not automatically change the character of the necklace because the
necklace was of substantial value. It's substantial because considering that fact
that a couple of years earlier, in 2008, neither had any money saved up and
whatever money H was making a $1k was going to child support, so $25k is a lot
of money. It's the equivalent to 2-years of child support payments for H. So,
because the cost of the necklace is substantial, even though H gave it to W as a
holiday gift, it still needed to be in writing, with an expression by H that the

necklace was now W's SP. Therefore, the transmutation fails.

DISPOSITION

Therefore, the necklace is still H's separate property, and he either gets the

neclace back or the value ($25,000) of the necklace back.

b. Car Accident Settlement Proceeds

SOURCE

The souce the car accident proceeds was a settlement W made on her accident
claim in 2014 for $30k. W was originally injured in a car accident in 2012, when
she was still married. She received the proceeds in 2014 after her and H had

permanently separated. Proceeds received after separation are preseumed to be
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~

SP.

ACTION

Personal Injury

If a spouse sufferes a personal injury during the marriage, the proceeds from
the accident are community property. If a spouse in injured prior to or after a

permanent separation the proceeds go to the injured spouse.

Here, H and W permanently separated in 2013. The car accident that W was in
and suffered personal injuries occured in 2012, when H and W were still married.
So, because W suffered the personal injury from the car accident while she was
still married to H the proceeds should be CP. It's only fair because it is likely that
H had to look after, specifically take care of, and tend to W during this time
because she was likey in need of special care and attention due to her injuries. It
is possible that he may of had to drive to and from doctor appointments and
chiropractors so she could receive treament for her injuries and make a fulll
recovery. It is fair that H receive a share of the proceeds due to his community
input during this when W was likely vulnerable and need help over and beyound
what is normally expected of H or the community. Therefore, the proceeds are
CP.

DISPOSITION

Because the proceeds are CP, upon dissolution H has a respective right of half,
$15k and W gets the other half.

c. Stock Option Profits

SOURCE
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W got the stock options when she was granted them in 2012 by C, the company
she worked for. All assets and property acquired during marriage is presumed

CP. Therefore, the stock options are CP.

ACTION

Stock Options

Stock options that are aquired during marriage but excersied after permanent
separation or divorce require that the community property recieve the CP interest
duriing the marriage. Courts typically use the Time Line Rule to determine the %
due the CP and the % due the spouse's SP.Under the time line rule you take the
# of years the stock was held during marriage and divide it by the total of years
the stock was owned and multiple it by the total amount to determine who gets

what %.

Here, under the time line rule, W held the stock for 1 year before separating
from H. She exercised the stock two years later in 2014 for an $80k profit. So, 1
divided by 2 gets you .5. .5 x $80k equals $4k. Therefore, the CP is entitled to
$4k. '

DISPOSITION

The CP is entitled to its for $4k interest in the stock option profits. Upon

dissolution, each gets half, so H has a respective right of $2k and W get the rest.

2. H's Reimbursement to the Community for Child Support Payments

SOURCE
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The source of the $1k, monthly, child support payments was a child before
marriage from a prior relationship. All assets, property, and presumable debts
aquired prior to marriage are presumed SP. Therefore, the child support is H's
SP.

ACTION

Child Support Debts

All debts, including child support, that are aquired before and during marriage
are considered CP. Here, since the child support payments were aquired before
marriage they are now considered CP and the community is not entitled to

reimbursement.

DISPOSITION

Since there is no property or asset involved and the community is not entitled to

reimbursment, there is no distribution applicable here.

Conclusion

H should not be required to reimburse the community for his child support

payments.
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